1|7 25 fE Kk () Wik & BURMIREIE. (1) 5 (2) 5 (3) fExe

(1) a,.,+2=5(a,+2) LEELDT, Bdl{a,+2) 1FHa, +2=5, KI5 OELEFIE 725,
Wz, a,+2=5-5""1 J/pbtba =5"—2,
(2) S,=2b,—6BLOS,=b, LV 2,—6=0b,, T72bbLb,=6.
F72, S,1=2b,,+2n+1)-8, O S,=2b,+n—8--@ ThHVH, O-OIzkY
by =2b, 1 —b,)+2 < b, 1 =2b,—2 <> b, —2=2(b,—2).
() FRRCLT, b,—2=(b,—2)-2"7, bbb, =2""1+2. B
(3) @a,+b,=5"+2" 1 RIDFEHTHD (%) T & EECENIFINE TR
(i) n=1DL%, a;+b,=3+6=9 LV, ZHII3DFEHKTHS.
(i) n=k DL &, (*)OLEET D, | 2EEE LT+ 2-41=3] LR, S*=3] =21 25 L,
@yy b, =514 202=5(3] — 2k +1) 4 2. 2841 = 15] — 3. 2k +1 = 3(5] — 24+1)
Bl —2k+1 M T D Z L L) n=k+1 DEXD (%) BT
PLEICE D, T _RTOARE n 1O T (%) 13 320,
3EELTHAFRREHVS L, 5=—1,2=—1 LY, a,+b,=(—1)"+2-(—1)"=3-(—1)"=0.
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R E
|AB*=[6—a|’=[6"—2¢-5+|a|* 1 v |AB|*=5—-6+5=4, 3725 |[AB =2
|AC) =|c—al*=]c|*—2¢-a+]a]* kv |AC|*=4—8+5=1, F7bb [AC|=1.
%7-, AB-AC=(6—a)-(c—a)=b-c—a-b—c-a+|a|* Lv AB-AC=2—3—4+5=0.
$x12, AB=2, AC=1, ZBAC=90".
(2) HILFi#E ABC Licdh 20T, OH=0A +sAB+AC () £ B3 5. OHLCEHABC) L,
OH-AB=0 <> (OA +sAB+AC)-AB=0 <> OA-AB+4s=0. -
OH-AC=0 <> (OA +sAB+AC)-AC=0 <> OA-AC+¢=0. @
- OA-AB=a-(b—a)=a-b—|a|*= -2, OA-AC=a-(c—a)=c¢-a—|al*=—-1 coHz1b,

D, @1FFh2N —2+4s=0, —1+1=0 L7, s=—;, t=1. WZIT, (%) ITRALT

—_— = ] == —

OH=0A +5AB+AC= a+ ;(5—2)+(E—2), Tfoczb%o_ﬁ=—%2+—;3+2.

) [oH*= 1| E —|—1|b|2+| |2—7a b4+5-5—¢-a kv [OH|*= +i+4 §+2—4=3.
7 AABC:—;AB-AC=—;-2-1=1 ChBID, Kb B KO

AABCxOHx%:lx\/? =%. B
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=

log 2 log 2
) (. andx=[log|fx] | = l0g| filog2)| ~log| A0 .

0

5

fllog2)=2+2""'=,

log2 5
f0)=1+1=2 ThrHb, SO g(x)dx=log

—1og2=1og%
ef— g%
e*+e "

oo (e P—(e"—e ™) | [ef—e*\P_ . 2
g'(x)= (e"—+—€_x)2 =1 <€x—+—e_x> =1 {g(x)}*.

(2) 9(x)= THY, FEAOWSERANT

(3) (2)&v{gx)P=1-g'(x) THY, ZhEMHVsL

In+2:S

log2 log 2

(gt {gtaPax= " g(x)1— g'x)ldx

0 0

log 2
= totoyax—| * gt0)rgxdx

I 1 log2
=1, | splotr |

2_2-1 3 1 3\
gllog2) ==y =5 ThoMD, I“z—ln—n—H(g)

2
s n=1eLTh=l—5(g) Tho, 1) 50 L=log s — 5. @
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a, b, clITNhTN], 2, -, 6OOTINTHY, (a, b, ¢) DT T =216 @0 & 5.

f(x)=ax?=2bx+3c THY, fl(x)=0 DHFRE D L5 L&, T =b2—3ac.

(1) f1(2)=0 <> 3c=4b—a). O
3 LATHVETHY, clZADMKTHY c=4. B
ZolE, b—a=3ThV, O &I (a, b, c) DML (a, b, c)=(1, 4, 4), (2, 5, 4), (3, 6, 4) D 3iEY

3 1
HHNG, KODHHERIL 56 = 72.

2) f(3)=0 <= 3a+c=2b. -©@
b=<6 1V 3a+c=20<12 THY, c=1 LV a=1, 2, 3IZROEND.
(i) a=1DE&, @ <> 2b=c+3 THY, (b, ¢)=(2, 1), (3, 3), (4, 5).
(i) a=2DLE, @ < 2b=c+6 THY, (b, c)=(4, 2), (5, 4), (6, 6).
(i) a=3DLE, @ <> 2b=c+9 THY, (b, ¢)=(5, 1), (6, 3).

wW

SRIT, @ WA (a, b, ¢) DRULBITY BB, KIDBHHIL o = B
(3)  f(x) M x=3 THfE A & 57D DA 5%
f(3)=0 7> D>0 <> 3a+c=2b > b2>3ac. -
@ &= (a, b, ¢) D8V DH B, B ZMl=TDIX
(1,2 1), (1, 4, 5), (24,2, (2,5 4), (3,5 1), (3, 6 3)
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